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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet.

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---------- =
1) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew ---------- in the front vard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3- Can you please --——-—---—- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry’s dissatisfaction with our work was --—--——-- in his expression, although he never
criticized us dircetly,
1) vulncrable 2) bright 3) implicit 4) humble

5 The world’s coal, oil and gas -----—---- arc finite; once day they will run out, so think now
about what you can do to consume less,
1) appliances 2) deposils 3) rclics 4) amcnitics

6-  You arc recommended o use mnemonies to help you ----om-oo- important items of
information.
1) cnumcraie 2) cxpose 3) recall 4) withdraw

7-  The lifcspan of a mayfly is ---------- » lasting from a few hours to a couple of days.
1) imprecise 2) ephemeral 3) superlicial 4) swill

8-  His words to the press were deliberately -----------—-; he didn’t deny the reports but
ncither did he confirm them,
1) mutual 2) cssential 3) dogmalic 4) cquivocal

%-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to -———---- the building
immediately.
1) expel 2) cvacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematical --—-----—- which have puzzled
man for many centuries.
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by clhoosing the hest
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Normally in nutrition, minerals. including those with electrolytic properties, are
considered functionallv as separate entities. [n physiological terms, however, the
electrolytes need to be taken together since cells require a specific balance of anions
and cations to function efficiently. P’hysiological processes operate within a narrow
range of conditions, especially with respect to pH. In addition, enzyme systems. and
hence cell metabolisin, are sensitive to pH. Thus, changes in acid—base status have a
widc influcnee on cell lunction and the animal must regulate the input and output of
ions to maintain acik—-base homeostasis.

Failure to maintain the correct electrolyte balance means that metabolic pathways
ar¢ unablc (0o [unction cllicicntly and resources are diverted to achicving homceostasis
al the expense of growth, The dict is important in the mainicnance of the correct
intracellular ¢lectrolyle balance owing Lo the metabolizable anions and cations that it
containg and that it consumcs or generaies acid during metabolism, Thus, an cxcess of
anions will result in the production of hydrogen ions to counterbalance the anions.
giving metabolic acidosis. whereas an excess of cations requires ions such as acetate
and bicarbonate and causes alkalosis.

In conclusion. the balance of acids and bases influences many functions such as
erowth rate, appetite, amino acid and energy metabolism.
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Consumption of the minerals with clectrolytic properties, needs —--—-caeae—,
1) a balance ol anions and cations 2) specilic anions

3) a balance of pl1 conditions 4) specilic cations

For which of the following is acid—base homeostasis essential?

1) Some cellular ions

2) All cell enzyme systems

3) Cell metabolism and enzyme systems

4) Only cell metabolism

Imbalance in electrolytes within the cell finally results in —--------—---

1) failure in growth 2) renewal of resources

3) achieving more growth 4) meeting more expenses

All of the following items are involved in metabolic acidosis EXCEPT --—-----—--- 2
1) hydrogen ions production 2) counterbalancing the anions

3) cxcess ol cations 4y increasing the level ol anions
Which of the following titles best suits the passage?

1) Mctabolic Acidosis 2) Acid—Basc Homcoslasis

3) Lleetrolyles 4y Alkalosis

PASSAGE 2:

When amino acids are available in excess of the animal’s requirements, or when the animal
is forced to break down body tissues to maintain essential body processes, amino acids may
bc catabolized (0 provide energy. This is mmportant in dogs and cals, which have been
shown 1o be healthy on a carbohydrate-free diet.

The first stage in the oxidative degradation ol amino acids is the removal of the amino
group by onc ol two main pathways, oxidative deamination or transamination. In the latter
process the amino group is transferred to the alfacarbon atom of a ketoacid, usually
alfaketoglutarate, resulting in the production of another ketoacid and glutamate.

'The glutamate so formed. as well as that which becomes available from the digestive
tract and from protein breakdown in mammalian tissues. may undergo oxidative
deamination in the presence of glutamate dehydrogenase. The final product of amine acid
degradation is acetvl-coenzvme A. which is then processed via the tricarboxylic acid cyele
to vield energyv. The acetyl-CoA may be produced directly (as in the case of tryptophan,
Ieucine and isoleucine), via pyruvate (alanine, glyeine, scrine, threonine and cysieine} or via
accloacctyl-CoA {phenylalanine, tyvrosine, leucine, lvsine and iryplophan). Other amino
acids are degraded by pathways of varving complexity to give products such as
allukcloglutarate, oxalacclate, [umarale and succinvl-CoA, which cnter the tricarboxylic
acid eycle and vield acetyl-CoA via phosphocnol pyvruvate.

In the diet of which animal group is excessive amino acids most needed?

1) Omnivores 2) Carnivores

3) Ruminants 4) Herbivores
Which process could initially lead to glutamate production?

1) Transamination 2) Transformation
3) Oxidative dcamination 4) Phosphorilation



O ol (il )5 (990 3T (wnadti Colw g Sy

& doeis 449F (8+Y 08) olae dlas LS s g Culilugs

23-

25-

26-

27-

28-

29-

Which clement in mammals exelusively undergoes oxidative deamination?

1) Alfaketoglutarate 2) Ketoacid

3) Glutamate 4) Alfacarbon

The presence of which of the following chemicals is necessary for oxidative deamination?
1) Phosphoenolpyruvate 2) Iricarboxylic acid

3) Acetoacetyl-CoA 4) Glutamate dehydrogenase

From which pathway could the production of succinyl-CoA be achieved?

1} Through pyruvate 2) Directly from acetyl-CoA

3) Through ’hosphoenol pyvruvate 4) Via acetoacetyl-CoA

PASSAGE 3:

Extracellular fluid calcium ion concentration normally remains tightly controlled within a
few percentage points of its normal level. 2.4 mEqg/L. When hypocalcemia occurs, the
excitability of nerve and muscle cells increases markedly and can In extreme cases result in
hypocalcemic (ctany. This is characterized by spastic  skeletal muscle  contractions.
Hypcrealeemia, depresses neuromuscular excitability and can lead 1o cardiac arrhythmias.
About 50 per cent of the total calcium in the plasma exists in the ionized form, which is the
form that acts biologically at cell walls, The remainder s cither bound o the plasma
proteins, about 40 per cent, or complexed in the non-ionized form with anions such as
phosphate and citrate, about 10 per cent. Changes in plasma hydrogen ion concentration can
influence the degree of calcium binding to plasma proteins. With acidosis, less calcium is
bound to the plasma proteins, whereas, in alkalosis, a greater amount of calcium is bound to
the plasma proteins. ' herefore, patients with alkalosis are more susceptible to hvpocalcemic
tetany.

According to the passage, what does the word “excitability” mean?

1) [laving a low percentage 2) Ability of cell division

3) Capacity of controlling 4y Ability to stimulate

All of the following features are correct about Hypercalcemia EXCEPT ----—--—--,

I} it is muscle contractions with spasm

2) it decreases stimulation

3) it can induce incoordination in heart pulses

4} it increases calcium in blood

On which organelle does the ionized form of the total calcium have biological activity?

1) Endoplasmic reticulum 2) Cell membranes

3) Mitochondria 4y Golgl apparatus

Which chemical cannot be in the non-ionized form of the total calcium?
1) Phosphate 2) Citrate

3) Some cations 4) Some anions

Which statement is inconsistent with the passage?

1) Acidosis inhibits more binding ol calcium to the plasma proicins.
2) Hypocalcemic (ctany can be resulted Irom alkalosis.

3) In alkalosis, more calcium is bound to the plasma proteins

4) Susceptibility 1o hypoecaleemic tetany oceurs in acidosis.
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